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Question Number : 1 Question Id : 4928631441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The genus Solanum includes the following species.

1) S melongena

1) S indica

1) S aestivum

v) S nigrum

& 1808 =éhod® D Ferdo Herd ST

1) & Derozoe

1) & zods
1) & o9J0
V) & Juio

The correct answer is
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Options:
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Question Number : 2 Question Id : 4928631442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Edible fruiting bodies called basidiocarps are produced by

BRAIrTHw odud 858hHS JoTorods a8 T

Options:



Saccharomyces
FRE DR
1% -
Claviceps
i
e
Puccinia

58) Dol

Agaricus
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Question Number : 3 Question Id : 4928631443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The following plants are associated with human health care and Bio-diesel production
respectively.

& 1808 g od” QD SEDJM 585 es8tig SgeaBo oBodn RrEDS So5r68 @"‘déojcée?ma
Options:

Jatropa and Chlorella

2T B §oer
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Rubber and Pongamia

Sendo 08y Foroalr

Chlorella and Arnica

f&'g 208050 E@S’



Digitalis and Jatropa
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Question Number : 4 Question Id : 4928631444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The major pigments present in the members of Rhodophyceae are

SCEPNS o Pl Ig@Eages
Options:
Chlorophyll a. ¢ and Carotenoids
§8»6 a. ¢ Hododn 8T8 Tonien

1 ®

Chlorophyll aandb
56'56 a 558650 b
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Chlorophyll a. d and Phycoerythrin
§£6'0S a, d 6050 HEIOEGS
3¢

Chlorophyll a and Phycocyanin
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Question Number : 5 Question Id : 4928631445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Members of Phacophyceae possess
1)  Gelatinous coating of algin

11) Unequal and lateral flagellae
1i1) Pyrenoids

1v) Phycobilisomes
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Options:
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Question Number : 6 Question Id : 4928631446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
ListI

(a) Oryza

(b) Anacardium

(¢) Datura

(d) Tridax

& §od TEQ 28N8E0d
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(d) @mﬁ
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The correct answer 1s
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(iii) o
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ListII
Hesperidium
Dehiscent
Indehiscent

Caryopsis
Cypsela
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Question Number : 7 Question |d : 4928631447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the different parts of bulb of Onion.

&0 ORISR VG oo lodod.

Options:

A : Adventitious root B : Stem

C : Apicalbud D: Scale leaf

A wapdy I B : smodo

C : o §¢so D: el esow
34

A : Scale leaf B : Apical Bud

C : Axillary Bud D : Base of scape

A Precdo oo B oifdso

C . hag 680 D : 9% 28zrifo
= '

A : Adventitious Root B : Axillary Bud

C : Apical Bud D : Fleshy scale leaf

A sapdd 30 B : /59 880

C : o §dgo D : $3cdndg dreodoesso

3



A : Fibrous Root B : Axillary Bud
C : Apical Bud D : Base of scape
A o 3G B : hsg §Eo

C ! o §¢go D : %8 adgrio

Question Number : 8 Question Id : 4928631448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

ListI ListII
(a) Jasmine (1) Monochasial cyme
(b) Solanum (11) Dichasial cyme
(¢c) Nerium (111) Polychasial cyme
(d) Ipomoea (iv) Cymule

(v) Solitary cyme

& 1§08 T8 2EHEEE

ardee | e 11
(@) S8 (1) 87hod o
(b) &rerso (i) 8P FSo
(¢) woabo (iil) axdvadcs Jybo
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The correct answer 1s
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Question Number : 9 Question Id : 4928631449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Insome plants. the seeds germinate while still attached to the mother plant.

Reason (R) : It is a strategy to lower the abiotic stress and to ensure successful
establishment of plantlet.

APE0 (A): FQ) oo T SOInE & ©otsY GHE I3,
580 (R): 20 APS 28E SHoF Inwsen PSS GAJSt SHB S88.
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Which of the following is true?
& 1808 TS B DBgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 08cw (R)Bodr &g D085 (A8 (R) PBgR L38e
1.¢
Both (A) and (R) are true. but (R) is not the correct explanation of (A)
(A) 508030 (R)Bodsr D855, 50 (A) § (R) 96g3S D8 52
2 "
(A) 1s true. but (R) 1s false
(A) 250, 570 (R) eddgsdn
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(A) 1s false, but (R) 1s true

(A) o58550, 570 (R) 9550
4 %

Question Number : 10 Question Id : 4928631450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Read the following statements:
1)  Pollen grains contain a thin outer layer exine made up of sporopollenin.
i1)  Sporopollenin is an organic material resistant to high temperature and strong acids.
i11) Pollen grains are preserved as fossils.
iv)  Consumption of pollen products does not increase the performance of athletes.

& 1Bob Trgpgod WES0d
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The correct combination 1s
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Identify the false statements :

1)  Endospermis triploid filled with reserved food and nourishes the developing embryo.

ii) The process of formation of pollengrains from megaspore mother cell is called
Megasporogenesis.

i11) Two nucleni are formed from functional megaspore by mitotic division and move to
the opposite poles of embryosac.

iv) Atmaturity, a typical angiosperm embryosac contains 7 nuclei and 8 cells.
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Question Number : 12 Question Id : 4928631452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The following partial floral formula “Bil. @ . P. G™ was derived during identification of a
plant. These features indicate that the flower possess

1)  Bracteoles

11) Inferior ovary

1) Petals

1iv) Two equalradial halves when cut in any radial plane allowing to pass through centre of
flower.
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The correct answer 1s
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Question Number : 13 Question Id : 4928631453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Solanaceae family plants are known for

1)  Rhizobial association with roots

i1)  Production of cigarettes from leaves
111) Numerous stamens

iv) Seeds are endospermic

FOID Bolwon InH e & ofTo WY
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i) HEre Hod didSe $aird
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The correct combination 1s
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Options:
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Question Number : 14 Question Id : 4928631454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Study the following lists

List-1
(a) Mesophyll cells
(b) Tracheid cells
(c) Nerve cells
(d) White blood cells
Bob TBI 2SHEBos
erde -1
(a) SErogdsearen
(b) THgerren
(c) ~&&eren
(d) Bougseren

The correct answer 1s
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Options:
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(d)
(iv)

(d
(1)
(d)
(i1)

(d)
(iii)

(1)

(i1)
(iii)
(1v)

(1)

(i1)
(iii)
(1v)

List-1I
Branched and long

Amoeboid shaped
Round and oval

Elongated
Long and narrow
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Question Number : 15 Question Id : 4928631455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the subunit components from List-I to the corresponding Macromolecules from

§ob 280 e -1 8 S02008H00S T8 Fder-Il & o Sro vawYo 288" §rdiod.

List-II.
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e -]
H
(a) N, —C—CO0H
I
CH,
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The correct answer is
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Options:
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List-1I
e - 11
Lipid
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Protein

RNA
DNA
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Question Number : 16 Question Id : 4928631456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1

(a) Condensation phase actually 1s the interval between
Mitosis and mitiation of DNA replication

(b) Decondensation phase in which synthesis proteins
takes place i preparation for mitosis

(¢) Replication in which the amount of DNA per cell
doubles

(d) Quiescent stage or mactive stage

So& T8I adLgdbod
erder -1

(@) BoBRwAe (Doidrmo) &¥ SdodF=s5 DNA
D858 wBogindse e Jodge
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S - Phase
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Question Number : 17 Question Id : 4928631457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The cross section of a specimen showed more than six vascular bundles distributed
throughout the ground tissue under microscope. The specimen belongs to

&880 JorgB8)AS” BBIOoUM W EX) 89S TIF Houren JoTTohE EmErwod’
Tgey Bod &oBd Bdrerio
Options:

Dicot leaf
Be&ED HSo

Dicot stem
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Monocot stem
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Monocot Root

DE&EhHs 38

Question Number : 18 Question Id : 4928631458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

One of the following statements 1s not true with reference to the complex tissue Xylem.

T DS08R Smerwoth Dowokod, & Bod T PSS’ B JBHE .



Options:
1,

It 1s a conducting tissue for water and minerals from leaves and stems to roots.

QEA, odrod JEren BN Frodo Hod IHol PIYn Todn Emrwo.

It provides mechanical strength to plant parts.

08, oy oiro@f word) BErEN0E.

It is composed to tracheids. vessels. fibres and parenchyma.

28 THEgrws, e, Jvdoo HDodosn S’ljé}iﬁoéeaz?ﬂm gesodaod.

Tracheids do not possess protoplasm.

T8 Eerod” BIITYo Gokd.

Question Number : 19 Question Id : 4928631459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
List-1
(a) Amphibious plants
(b) Submerged suspended hydrophytes
(c) Mesophytes
(d) Xerophytes

Bod &R 2EB8D0k
erdle -1
(@) GFoHUE I e
(b) S0dh Fcohssmo BodS A oo
(€) HoGgusy ook oo
(d) I8 I e

The correct answer 1s
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(1)
(i)
(iii)
(iv)
\Y

List-1I
Tribulus
Barley
Sagittaria
Lemna

Utricularia
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Question Number : 20 Question Id : 4928631460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Following are some of the measures taken to protect pollinators

i)  Reducing the level of pesticide usage

ii))  Discouraging the cultivation of native flowering plants

ii1) Encouraging the planting of native flowers plants in open spaces
iv) Discouraging bee boards and bee boxes

& (508 FR) dddben Do Sody), 50T e SEmS 8208 EH BEgen
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The correct combination is
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Question Number : 21 Question Id : 4928631461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Assertion (A) :  Apoplastic path of water is considered to be non-living path.

Reason (R):  Inapoplastic pathway. water does not move through intercellular spaces
or through the space between cell wall and plasma membrane.

QS0 (A): 8 Sof), eIl Srdo S Srdorr H8RBSotndob.

8o (R): @FTY Srdod’ AB Ko E7rodordsiod’ okt BT 88,

Beadfourad dodlg He Bt oo Haodo Gotnod.

Which of the following is true?
& 1808 TS® QB De&gHn?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
L (A) 080 (R)Bodr v8gsn 5005 (A)$ (R) 00 Di56e
1,

Both (A) and (R) are true. but (R) is not the correct explanation of (A)

(A) 50805 (R)Bodkr ddssn, 590 (A) & (R) 866308 58 56
o> ®

(A) 1s true, but (R) 1s false

(A) 385500, 570 (R) ededgadan
3.

(A) 1s false. but (R) 1s true

(A) BRSO, B (R) STty
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Question Number : 22 Question Id : 4928631462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Bronzing in legumes and whiptail in cauliflower are the physiological diseases caused due
to the deficiency of the micronutrients.

i) Cu iy B
ity Cl v) Mo

Eoir)E F7gGoBd Bigand' prrozoh Ho8odn 57OR808” B¥m &% agien SrE)
Fasren §Ho dod Seorheron

iy Ci 0 B

i) Cl iv) Mo

The correct order of combination
28 HHDHST SsTevels PEJ0N)
Options:
1 and i1 respectively

15086080 11 S5

11 and 111 respectively

il 558050 il SE&M
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G i B e
2 » M1E005 IV S8o0m
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1508050 1V S%HdHm

.

Question Number : 23 Question Id : 4928631463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Velocity of Reaction (V)

o

a [b]
In the above figure representing an enzyme catalysed reaction ‘a’ and ‘b’ respectively are

20 I JLoS® ‘a7 DB DT o ISED &@)08 IEgH NI drdotwdod

Options:
Michaelis Menten constant and substrate concentration

DPOS-EBS Yorobo S8 SEEHTYE TES
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=W e SoBEhs Ko

2
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1 .
;me and substrate concentration

1

5 Vo 0005 edgiarg mEE
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K_, and [E]
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Question Number : 24 Question Id : 4928631464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In Calvin cycle interconversion of G-3-P and DHAP i1s catalysed by

5918 JS0dod” G-3-P $o0cin DHAP © S50 S58180 28 w4 @)0sddod
Options:
Transketolase
Erés’sE
1
Aldolase
ETONE
ik =
Triose phosphate 1somerase
(B BrE- nfrfiannéf DRV E
. ¢
Ribose-5-phosphate 1somerase
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Question Number : 25 Question Id : 4928631465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

One of the following combinations is correct with reference to photosynthesis

8GepasgdodBrHBoir SSorm & (B0 TS wE BRFdo HBGEIG
Options:
C, pathway, PEP. RuBisCo

. C; %80, PEP, RuBisCo
1

Pea. RuBP. RuBisCo

23575, RuBP. RuBisCo
z W



Maize, RuBP. Mesophyll cell
3008)28°%), RuBP, digrogd S0

o %

Pea. PEP, PEP carboxylase
wo°e3, PEP. PEP s°on§, 88

4 %

Question Number : 26 Question Id : 4928631466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The conversion of 1, 3-Biphosphoglyceric Acid (BPGA) to Phosphoglyceric Acid (PGA)
is an

1. 3-@@*@31{33355 B30, FINN20E whHod 3r0)& o8

Options:

Energy releasing process

80 D Dok nfefy

], A
Energy requiring process
¥§ ©I36Td L8

2 ®

autotrophic process

PLOVOFRE WG

endothermal process

Quﬁ*&ﬁdéﬁ S8
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Question Number : 27 Question Id : 4928631467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The chemical reaction which results in respiratory ratio of 0.7 1s

0.7 8o A8 1d) Srcbal €8y 2872
Options:
Oxalosuccinic acid —— o-ketoglutaric acid + CO,

wsS O8RS sho — o- §&5°Kreres wdo + CO,

1 ®

Tripalmitm + O, —— CO, + H,O +Energy

SF088 +0, — CO, +H,0 +%8
> o

Pyruvic acid + CoA+NAD"™ —— Acetyl CoA+CO,+NADH+H"
D8 eivo +CoA+NAD" ' —— Acetyl CoA+CO, +NADH +H"

3 ®

Glucose + O, —— CO, + H,0 + Energy

4 ®

Question Number : 28 Question Id : 4928631468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following
List-1
(a) Gibberellins
(b) Skoogand Miller
(¢) Cousms
(d) Naphthaleneacetic acid

& §od T8 wELTod
erder -1

(a) e2w8dSen

(D) oA Sodotn Jowld

(c) 8=ag

(d) LIS @B edo

The correct answer 1s
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(11)
(111)
(1v)
(V)

List-1I

Release of volatile substance from ripened fruits
Bakanae disease

Auxim

Induction of dormancy

A modified form of adenine. a purine.
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Question Number : 29 Question Id : 4928631469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : For cell-to-cell contact. the donor cell designated F™ produces the pilus
that makes contact with the recipient cell known as an F~ cell.

Reason(R) : The donor cell is called F~ because it produces the pilus.

QE50 (A): B208 o odb 55, F7 o2 Dodad odioc PORN bdgda&@go&.
wwold F7 edad [(rddnod afdod.

8o (R): TEED0 WO bb’gd&@o& 528 TIY F woirds.

Which of the following is true?
& 8o TIS' B DSgH0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 08050 (R)Bodr d&gh0 28050 (A)8 (R) 008308 Dbden

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
: (A) 508050 (R)Bodsr &5k, 570 (A) 8 (R) 985308 Dhde 5780
b
(A) 1s true. but (R) 1s false

» (A) 050, 5 (R) 1&g
3

(A) 1s false, but (R) 1s true

(D) esdgEn, w2 (R) seg5w
4

Question Number : 30 Question Id : 4928631470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



Assertion (A) : Lambda phages cause lysis and death of the host cells. when they multiply.

Reason (R) : Phage DNA upon penetration into E.coli cells get integrated into the
bacterial DNA and remains inactive.

AYHSI0 (A): ody FEon 5B BoSddyd, 88z Earo DH)o W Edo

ik

&R 000.
0 (R): & DNA, E.coli o™ @ddo ThS $hard, wr§bosre DNA '8
DArEOSI Qo wodFéod.

Which of the following is true?
& 1808 TIST B DBgB0?
Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
g (A) 5080w (R)Todor Sdgidan 00w (A) 8 (R) 205308 dbden

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)

il (A) So8cdn (R)Bodsr 2850, 520 (A) 8 (R) 38508 8 52

(A)1s true, but (R) 1s false
<% (A) 5580, 570 (R) eddgadan
(A) 1s false, but (R) 1s true

(A) 38550, 570 (R) g
4
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Correct: 1 Wrong: 0



In order to know the genotype of a dominant phenotype. it is crossed with a recessive
parent. The cross resulted in 50% of recessive phenotypes. The genotype of the dominant
phenotype used in the test cross 1s

E.:-Qtr‘“géﬁ Cﬁg%’gdﬁﬁu B0, aéﬁagdrﬁ‘-ﬁj Be005SeTras @oe‘é%ﬁiﬁ 28 g Poldmo 2.
& $0880d" 50% wodds SyFgdraran SoEdowron. & HOFH0ETp0S’ GHRTrAoNS
EJ?J"’-?@ Cﬂg}%gdréo B0E), aéﬁ:gdjba’}o &2

Options:

incomplete dominant genotype

VR0 Y wrdd 28ogdrno
4 " ER i

Question Number : 32 Question Id : 4928631472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A cross between homozygons red-flowered plant and a homozygous green flowered plant

resulted in a yellow flowered F, plant. The phenomenon 1s

2.8 BBy B YTren o ¥, 8 SN0 sRIHIres fo I8 & dosdno
2008, HoPlord Pirmen Ko F; 3ng) dogodod. ad O Syicdiosn?

Options:
Co-dominance

e eaia'ﬂﬁjéeﬁngo
1 % -

Incomplete dominance

s

oY 2erddsdsco
5 %5:- QJUESI i uS



Epistasis

IDEFHS
3 % i

Dominance

E:%r:ﬁééago
4 % ]

Question Number : 33 Question Id : 4928631473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Assertion (A) : DNA i1s a long polynucleotide chain composed of four different nitrogen
bases A, T.U&C.

Reason (R) : The stacking of base pairs one over the other and the pairing of bases from
two strands through hydrogen bonds stabilize the double helical structure
of DNA.

QB0 (A): DNA Teoih 85788 JE2e groren A, T, U, C 80Ac50d) a8 E3S
FOXrgEBrBa Teodo.

8o (R): gréaden aiT 8 w88 §rdE $0005n BodrSeS® ey wrEtEd
208T08 2dfirdio Sol IByersd DNA D 36588308.

Which of the following is true?

& 1808 TRS® A& DBgB0?

Options:
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 508030 (R)Todsr Sdgian 0w (A)8 (R) 205508 ddden

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) $08030 (R)Bodsr S8gi0, 570 (A) § (R) 98¢0 Ddde 52
> B
(A) 1s true, but (R) 1s false
(A) 35500, 570 (R) edegadan

=z ®



(A) 1s false. but (R) is frue

(A) 38550, 20 (R) degdn
4. ¢

Question Number : 34 Question Id : 4928631474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following statements is correct?

& Typgos” Q8 SOTIE?
Options:
1
The energy required for replication of DNA is not from deoxyribonucleotide
triphosphate

DNA 98588 s50bd #§ 4edBs'sridhps B0l ool dodd

Ted

Replication of leading strand is discontmuous process
BTEPS FE HOES IYH)DE

2. % "

Replication of lagging strand is continuous process

BEEES FS B85S ©IYSHE

3 ®
RNA primer 1s required for initiation of DNA replication
DNA %858 (Fdodo wiirds RNA 250 ©dddo

4. &

Question Number : 35 Question Id : 4928631475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



Read the following statements and choose the correct option.

(1) Tailing: addition of adenylate residues at 5-end in a template independent
manner

(i1) Promotor : is the site recognised by the RNA polymerase in association with “p’
factor

(111) Division of

labour : RINA polymerase [ and RNA polymerase IIT are responsible for 18S
rRNA and tRNA transcription respectively
(1v) Capping: addition of methyl guanosine triphosphate at the 5-end of hn-RNA

& od Trgpgodn UHD 0TS argpgod Kgolod
(1) FOLEITBAS

(Tailing): &30S oiirw 5-EIDHod JFogor Bwdison
(1) H3oeas : RNA 95:50& “p’ factor & 00 $3amQ) godyod

(1) FSodgfad : RNA F9556& 1508050 RNA F85:8& I RNA es:da8par§ S8
EgE DT oW

(iv) s°2of : WIS M DD @rﬁf’w&&ﬁ_ hn-RNA 5'§5¢° $rdaron

The correct combination is
QB DODBoXS FoE¥JoY)
Options:

1&11

1%

11 & 111
o W

1 & 1v
3 ¥

&1
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The larger DNA fragment which is resulted upon digestion of PBR322 using Pstl and Pvull
is ligated with a DNA insert and transformed to E.coli cells.

Pstl 508030 Pvull &80 esada@3rh0a PBR322 3 ﬁrﬁomi‘r’ &’J;'Jb*j‘n’}_* DNA@JU&@“&Q DNA
500§ & (insert) 28580, E.coli $e57e578 HB5ES Dandb.

Assertion (A) : E.coli colonies harbouring recombinant vector cannot be obtained on
tetracyclin-agar plates on spreading.
Reason (R) : Because, part of the ampR gene has been deleted while cloning the insert.

AYPSH0 (A):  YIHoBred Trdo $0h & Ecolisodot BErsd omé 24D
DHBoHE R TE FodSdw.
8o (R): JotoEod pode ) EU0A WIS, aMpR £ &) erifo Sudchabod.

Which of the following is true?
& 1808 TRS* I DHSgH?

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
L (A)500050 (R)Bodk $8g8n $0805n (A)8 (R) %8508 56w

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) H08a3n (R)Bodsr 8550, 572 (A) 8 (R) 28538 2580 57

o o

(A) 1s true, but (R) 1s false
(A) Sgg50, 570 (R) eddgdmn



(A) 1s false. but (R) 1s tiue

(A) 38550, 0 (R) degban
4 B

Question Number : 37 Question Id : 4928631477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The some of the following are the desirable features to facilitate cloning of a DNA insert
into a vector.

1)  BamHI site

11)  Selectable marker

111) Ori

iv) High molecular weight

& 8o 78S FJ) DNA poderd) oirgod’S §0A Doirds shend oforen
1) BamHIgSo

1) Pofnd 6,6

i11) Ori

V) 805 eeserdo

The correct combination is
A8 D8RS Y0P

Options:
1& 11
ol n& i

& iv

1 & 111
4 ®
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Following are some of the biosafety and ethical 1ssues of genetically engineered crop

plants :

i)  There is no fear of transferring allergins or toxins to humans as side effects since
specific genes are selected.

ii) There is a risk of gene pollution due to transfer of the new genes into wild-type
plants.

ii1) Transgenics pose a harmful effect on biodiversity and have an adverse impact on
envIromment.

v)  There is no risk of changing the fundamental nature of crop plants.

FQ) 2oy Srdrodlo Bobd Jobdwg) o DnE), LIHEE Hndon I88 Jdddgewo HMDD

RAICIIE

1) ©8g8 adgPhod ITdodboded IrdYus® vudd BE r§d adurcnoe
gfaSa BB .

1) SSgEwGeos 58 adgde aderoanod ol aldgserdgo Pdrdo wotood.

ill) el Sod 25308508° HIFSES wfre JOHE TS0 8 BerSo
Sro.

V) JdgangHo Forde ofre Srdne Dardo ok,

The correct combination is
A8 JBFd o)
Options:
1,11, 1v & 11

1 ®

L& v
o R

il 1 & 1

1&1v
4 ®
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Match the crop varieties developed by hybridization and selection. with the corresponding
diseases they are resistant to

List-1 List-1I
(a) Brassica-Swarnim (1) Blackrot
(b) Cowpea-Komal (11) Leaf curl
(¢) Cauliflower-Shubhra (111) White rust
(d) Chilli-Sadabahar (1v) Bacterial blight

(v) Stripe rust

e -] S0 HDo88dn Hodofn H¥=:dH0 aQo” @é;);’};}% SvEe s J“Sﬁiﬁ)ﬁ;’cﬁg Hots
Ekﬁébﬂfﬁ?ﬂ?ﬁl e - Il &° S7¢38 Sozmobode J“geﬁoﬂ@“' pdNstod.

erde -1 e - 11
(@) rrese-8580 (1) Seososy
() Fe&-550d (1) e d0dd
(€) 50PR6-DHEs (iil)) Bpsosods Biben
(d) dgs-dars (iv) er§Bohd %éﬁ

(V) T8 Hoosodn 8foen

The correct answer 1s

08 oS 2o

Options:

(@ @® (@ @
() @ @) (@)
1 ®

@ ® (o) @
-x (1) (W  @(i) ()

@ ® © @
L. ) G (v i)



@ @® (@© (@
Lo i) ¥ @D 3D

Question Number : 40 Question Id : 4928631480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Micro-propagation is useful
i)  torecover healthy plants
11)) To generate new species
1i1) To multiply genetically uniform population
iv)  To produce heterozygous plant

ot

D8 T HAIE GHRBrHHBIB s

1) e&Hg8ddd JnH o 8BATFOELTS

1) Sdardod GéHHo Tobiras

111) 25580 o8 Jom wok adTo@d S Vohuw
V) Q&dookhor) InHod ¢ég Dodndd

The correct combination is

A8 HBGD e

Options:
1&11
1::
1 & 111
2 v
11 & 11
3 ®
L ox WM&V
Loology
Section I1d : 49286338

Section Number : 2



Section type: Online

Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questionsto be attempted: 40
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Question Number : 41 Question Id : 4928631481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is an acoelomate

So& T35 D8 $68 258 el £
Options:
Ascaris lumbricoides

B0 wo@sronke

N
Taenia solium
Bcsr FOS0

e,

Enterobius
DoB3E RSB

= B
Nereis

i S To1S)

Question Number : 42 Question Id : 4928631482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following species with their scientific name :

List -1 List-1I
(a) Theblackbuck (1)  Ailurus ochraceus
(b) Pygmy hog (11) Antelope cervicapra
(¢) Kashmir stag (111) Sus salvanius
(d) RedPanda (1v) Cervus elaphus hanglu

ol T8I 2ES8Todk

e -1 erda - 11
(@) &h=os (1) Dergdd eEwabd
(b) Sodorozp Dok (1) olrode™s DOps
(€) s%yd oy (1) SO FSfDADLD
d QY Fom (V) RS DdergdS Forp

The correct answer 1s
00 oY L=aren

Options:
@ ® @ @
, W ) () Gv)

@ ® © @
— (11) (1) (1) (1)
@ O (© (@
(1) (1) (1) (1v)
@ ® © @
L. @ G G @

Question Number : 43 Question Id : 4928631483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The first animals which exhibit *“Tube with in a tube™ organisation are

"TEod’l To” Sfarardy @Efow JodE zod JH0TaiFb?

Options:

Acoelomates
QS 308

1. %

Pseudocoelomates

5’:}:;‘5@';;5:&‘7“3505*.

o A .
Enterocoelomates
Qoéﬁﬁﬁﬁﬂej‘ﬁo@j

3 ®
Schizocoelomates
Ezﬁ‘”iﬂﬁ*ﬁoéﬁj

4 %

Question Number : 44 Question |d : 4928631484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following type of neurons are found in the ‘retina’ of humans

& Bod 2 BERS Sorgrraer Sl S0l BETS” Do

Options:



{
P
b

Y.
o

Question Number : 45 Question Id : 4928631485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following with reference to earthworim

List-1 List-1I
(a) 4 - 6% segments (1) Cmgulum
(b) 14 - 16™ segments (11) Stomoch
(c) 9 -14% segments (111) Blood glands
(d) 10 - 11™ segments (iv) Testes

TP BNE Go20BoRd & fod TV wEHBITWaRD

eflae - 1 e - 11
(a) 4-6mpoborw (1) oo
(b) 14 - 16podaren (1) £ordciodon
(c) 9-ld4pcéeen (111) SEHodoen
(d 10-1lgpodees (iv) Soodr en

The coirrect answer is
S8 Loy m=a%en

Options:

@ ® © @
L, G) G )

@ ® (@© (@
, s @ @) (@v) (id)
@ @ © @
2% W) (1) (@) (i)
@ o © @
v ) @ G @)

Question Number : 46 Question Id : 4928631486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Statement (S) : The foot of siphonopoda 1s modified into 8 or 10 arms. A part of the foot
is also modified into a siphon

Reason (R) : The modification of foot into siphon facilitates to escape from the predators

s (S): VITTE EHod® s 8 S 10 gherewom Serddy BoBo. FESNS'R
Todariidn wofoiTdomr JrdnBodo

s8mo (R): FEo K008 Frdroddo Tobd wofodaddn s LHo Hoo0d
é&goﬁjgm@& P ilovhPeTa b

Which of the following is true?
& 1808 TUS® B DSgHn?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
" (S) Sodokn (R)Bodr Heghn 080k (S) 8 (R) 285808 D58
i
Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) S08a0 (R)Bodsr dégkn, 552 (S) & (R) ¥0g308 B8 57

(S) 1s true, but (R) is false
- (8) d85d5w, 52 (R) eddgin
(S) 1s false. but (R) is true

(S) @Kae:a-’ga’n::, s (R) ﬁe:a-"gs’m
4 %

Question Number : 47 Question |d : 4928631487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following characters is not correct with respect to Ratitae

& 1808 2 ofpdn 0°88 LB H02000D38 57

Options:



Flightless birds

JKEB Hoen

1 =

Sternuun without keel

6598 |58 wod

Syrinx, clavicles are present

0 Hobodn w@iwsodown

R Al
males have penis

o SHed IHEo Godoid

Question Number : 48 Question Id : 4928631488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following

List-1 List-1I
(a) Harderian gland (1) Sk
(b) Sudoriferous gland (11) at the base of the tail
(c) Preengland (111) Ear
(d) Ceruminous gland (iv) Eye
(v) Brain

8ol TBY wEHEB0s

erfee -1 e -11
(@) SFPOORS Hod (1) W0
(b)) &ETDER (Hod (1) &% wgdaridn
(©) BR Bod (1) I
(d) SErDIT |Hod (iv) 8§59
(V) Sodd

The correct answer 1s
D0 w0 2o

Options:

@ @® (© (@
Ly @ () (@)

@ @O (@ @
ok @) (i) @ @)

@ @ (© @@
v @© G) @@

o R

@ @O @© @
Lx @) G @® @)



Question Number : 49 Question Id : 4928631489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following bear a flagellum without lateral appendages and the terminal part of
the axonema 1is naked without the outer sheath at its tip
a) Peranema
b) Monas
c) Polytoma
d) Chlamydomonas

a) “HoRdSe
b] BT T 9

c.d
CR
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Statement (S) : Transverse binary fission seen in paramecium is also considered as
homothetogenic fission

Reason (R) : The plane of fision is at obtuse angle to the longitudinal axis of the body
Fgwg (S): FE2000S R @iy BT NG FTIATHEEIE I8 o SrF wolrd

s*dmo (R): & G dodn BIY sdhd w5l Kt wos’ Gotnod

Which of the following is true?
& 808 TS 2B DSgH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) S08cke (R)Dodr D&ga0 Hobadn (S)8 (R) 053N JNTe
I
Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(8) S00cin (R)Bodr 850, 570 (8)8 (R) 285308 D8 50

(S) 1s true, but (R) 1s false

(8) Sdgdw, 570 (R) ed8sd0w
3. v

(S) 1s false, but (R) is true

(S) ed8gdm, 50 (R) ddgd0

4 B
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Match the following

List-1 List-1I
(a) Morphine (1) depressant
(b) Heroin (i1) stimulates of central nervous system
(¢c) Cannabmoids (111) sedative and pain killer
(d) Cocaine (1v) effect on the cardio vascular system

o8 TEI 2EHEBob

A | e - 11
(a) S0)3 (1) &S (Sr308 Boibio)
(b) =rorond (i) Bogard HgB0s (Wobouwd
(€) EdTon) (111) Soedadoodd, Ty od edTS0
d &35 (iv) Syscs BdSm 5558 BarHsn

The correct answer 1s

58 sond 2ot

Options:
(@ ® () (@
Lo @ G G @)

@ O © @
L@ i) @ 6

@ ® © @
Lo i) @ @ G

@ @® () @
" ) (1) (@av) (i)

4.
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Statement (S) : The eggs of Ascaris are described as ‘mammillated eggs’

Reason (R) : These eggs are passed out with faecal matter and infect man via
contaminated food and water

Fgmg (S): eI, 08 MdgH “SrdBBE" i Lo odrdd
s¥=o (R): & Lo IrIP Do TO° oL JBET SeondRod ertEhn
20030 A8 oo DoETon

Which of the following 1s true?
&% 808 TIS® B HBgR0?
Options:
(S) 1s true, but (R) 1s false
(S) Sdgdw, 50 (R) wddgdn
L.
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) So80in (R)Bodr &5, 570 (S)§ (R) S80S DS 57¢h
2
(S) 1s false. but (R) 1s true
(S) sd8g5m, 3 (R) H&gsm
3 ®
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
" (S) So060i0 (R)Bodr S8gd0 Sodadn (S) 8 (R) $68308 D8

4.

Question Number : 53 Question Id : 4928631493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
The only drug effective in the treatment of filariasis. hetrazon was discovered by
2BBSrDHD DEHS' TE IBE BYISTE B0l TWESH ERFE) TS ISH

Options:



Alfred Sherwood Romer
@@Qé 20H& Té

Yellapragada Subba Rao

e @iid Qoo
il 4 il ™
M.S. Swaminathan
M.S. 0T ES

William Kirby

St Ilevsle Eﬁa‘:

Question Number : 54 Question Id : 4928631494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following enzyme converts starch into disaccharides

Options:
Invertase

aﬁﬁogée';;
1. %
Amylase
D E
T
Cellulase

?\:mgé =)
o R



Protease
P D[oE

4 %

Question Number : 55 Question Id : 4928631495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cockroach is a cursorial insect and runs on the smooth surfaces using ‘A’ and runs on the
rough surfaces using ‘B’ parts of the body. What are ‘A’ and ‘B"?

TR0 B Slindy SLE50. 2d S dodn SOohbi A’ Hodoin s
Sodnm SOothLs ‘B’ & ¢ddriothd. "A’ $ddbo ‘B o Mot
Options:

A - Claws and arolium : B - plantulae

A -Sgren H8cin e8dco ;B - FOLFEeTT )

A - Plantulae : B - Claws and arolinm

" A -Jrotugeoren | B - Syren $00cin @ddcho

R o
A - Pivot ; B - Cibarium
A-H% 0 B- H38ckho

A and B - claws only
ASo8oin @ B-dgren Srgdo
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Match the following

List-1 List-1I
(a) Phallomeres (1) Nitrogenous waste disposal
(b) Taemdia (11) Copulation
(c) Cuticle (111) Prevents trachea from collapsing
(d) Ostia (1v) Blood passage

& Sob T8 2ES55Uos

e - | e - 11
(@) DSTDahb (1) &ge SggdmrTe Fohod
b) SH8csr (i) HoHe, B0
(€) @l7d (111) Trodnareren Sod€od FHoodm sPardod
@) wpos (V) 8§ BaH08

The correct answer 18
08 Lo 2BI%e
Options:
@ @O (© (@
) () (@@ (v
i, 4
@ @® (© @
, % (11) (1) (1) av)

@ ® © @
L) G @@

@ @® () @
%{ﬁﬂ (i) (i) (1)

4.
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Statement (S) : The animals which live in colder regions have larger body size with greater
body mass

Reason (R) : The small surface area does not help to conserve heat

Tgmg (S): 3o |Toered”® JASV0B oo IKYS (BIgorss” g F6o) £Oh
OoiIm000

s*¥mo (R): S8 5 &I ITogdn G HSITHLE GHBorHHE D

Which of the following is true?
& 1808 TIS® QB HSgH0?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)
1 (S) S08cio (R)Bodr ddgdn S080dn (S) 8 (R) 208308 28
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)

(S) S08c%s (R) Jodsr mgm* 2 (S)§ (R) ;66@:1;3 el B
2 #

(S) 1s true, but (R) 1s false
(S) &g, 570 (R) eddghwn
3. o

(S) 1s false, but (R) 1s true
(8) eddgsn, 570 (R) S&gdw

4 %

Question Number : 58 Question Id : 4928631498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

During summer the density of the surface of the water decreases due to increase in its
temperature. The upper most warm layer of a lake is called

2E00E° IrFeod’ SIS DL Sob Gddse DS Fods SKHK. GAKS
DKL FOS HERY GD0S00S® IHM KBS DS PER H00Erdd

Options:



Thermochine
&&° éEE

Metalimnion

SotrOANErS

Hypolimnion
T OIS

Epilimnion

Q&@mpﬁrﬁ
4 & '

Question Number : 59 Question Id : 4928631499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Statement (S) : Diapause is the phenomenon in which certain organisms spend some time
in a state of inactiveness

Reason (R) : Itisamechanism of survial under extreme temperature and drought

Tgwg (S): FQ) modhew Pesro FrEHdem é&%éom@* Fod sroldn oREdom
GOLTToN. BN SSrIR wotrdd

s¥eo (R): & odogrofic THT" £ ©HE GBS BN TR dod &8
00N E0 T8 R0

Which of the following 1s true?
& 8o TS® A0 HBgB0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)

(S) S080%0 (R) 3o ﬁe‘égs‘i::; $08050 (S) & (R) K:E}@oé D58
1



Both (S) and (R) are true, but (R) 1s not the correct explanation of (S)
(S) Ho8050 (R)Bodr d&gsm, 520 (S)8 (R) 85308 D88 &
2 .
(S) 1s true. but (R) 1s false
(S) 5w, 5 (R) eddgin
=z B
(S) 1s false. but (R) 1s true

(S) wddgsn, 2 (R) dg5m
4 %

Question Number : 60 Question Id : 4928631500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following gastric glands produce gastrin hormone

&

& 1Bod o =238 Hogoeo TR T8 EaTw
Options:

Cardiac gland

508 oo

Pyloric gland
2708 |«

a iRepes
Oxyntic gland
%éoiﬁg Hodowo

Fundic glands
Do&F |fotben

Question Number : 61 Question Id : 4928631501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The pH of blood 1s about 7.4 and 1s maintained by

883 pH 74 sodhbrty &\

Options:

Monocytes

ST i

Platelets
g8 D08

Leucocytes
o % o8 oL

Red Blood Cells

SO G5 Segrew
4.

Question Number : 62 Question Id : 4928631502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



The following characteristic features of circulatory system and heart types were found
different animals, A and B

A)
B)
1)

ii)
iii)
v)

—0

deoxygenated and oxygenated bloods are received by the heart separately but mixed
blood will be pumped out from the heart

the oxygenated and deoxygenated bloods are received by the heart and the unmixed
blood is pumped out separately

double circulation and 3-chambered heart
incomplete double circulation and 4-chambered heart
double circulation and 4-chambered heart
mcomplete double circulation and 3-chambered heart

EEROG Jgd0 000l MoBITTOR Jowofodd & Bod A H08ohs B ofmren IS

Eyoodody MoBotihbn

A)

B)

)
i)
iii)

V)

@meamému BgS500 Hodosw @mz&é& Dird S50 SIS HoB WO wFdgon

e drd FEn Hodon wdiad Kurd 850 MoBE WO O FHom [T
DoY) Vot

Geotids ERdpdn Hbdin 34iterod

GoddE (@0 Hdoin 4-ideiod

S0 Sw Hubdin 4+1dhe Hod

©B0Y g Bod SERDSENIN Sbdsw 3 oiod

Which of the following condition 1s correct?
& §od TAS® B HOTWHH?

Options:

=R

A B
i 11
A B
111 Ay
A B
v 111
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Question Number : 63 Question Id : 4928631503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the three following hormones is crucial for regulating the salt and water balance
in the body?

Bod TES* 2 FEH Bros® B -wdn Hogddo Ed Stwodo?
Options:
vasopressin, angiotensin-IT and aldosterone
SRS, Sroadr8YS-II Hocsn GRS
1. W
cortisol, aldosterone and renin

5700, S 00w S0 TR

[=¥]

anti-diurretic hormone. prolactin and aldosterone
BroBBar0BE F567S, |PerssS ook sgiRTs

angiotensin-II. thyroxin and aldosterone

BroBrBe-Il, Bur§e odcdn wS Qo
4 %

Question Number : 64 Question |d : 4928631504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An autoimmune disorder affecting the neuromuscular junctions leading to fatigue.

TE-Bod8 BobY Herddo T SIORT N el P eTa®) “5@053‘35}5‘655' d::’*f&_é 26

Options:



Muscular dystrophy
$0ds BFD

1. %
Myasthenia gravis
$0050RAS® (TID
.o *
Gout
Ae&S
3 %
Tetany
Glooedo
4 ®

Question Number : 65 Question Id : 4928631505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is called gyroscope of the body?

A& RSO Deooddd 267

Options:

Cerebellam

YA ¥ 4

© 80508 8, D1
1. ¢

Medulla oblongata
20 2 0P B0
Ponsvarolii

5)55°9

Mesencephalon

Saggg Hgs



Question Number : 66 Question Id : 4928631506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following
List-1
(a) Peptide hormone
(b) Amine hormone
(¢) Steroid hormone
(d) Protein hormone

808 TEI 2EHEBob
e -1

(a) E@ ?’.ﬁﬁ“@ﬁcﬁ

() [Tond S

(d) @88 &8¢ 1

The correct answer 1s

N0 BoNN 2atew

Options:
@ @® (o
, @) () (1)
(@ @O (©
(i)  (v) (1)
o o
@ o (©
, () (1) (v)
(@ ® ()
, ) av) (1)

(d
(1)

(d)
(1)
(d)
(1)

(d)
(1)

(1)

(11)
(111)
(iv)

(1)

(i1)
(iii)
(1v)

List-1I
Parathyroid
Estrogen
Oxytocin
Thyroxine

e - 11
#T@"S’“&S
ARE
SIRSIS
gy



Question Number : 67 Question Id : 4928631507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : AIDS virus has single strand DNA as a genetic material
Reason(R) : Reverse transcriptase enzyme makes AIDS viral DNA in the host cell

argws (S): AIDS $58&° ~JESS DNA aéﬁng&ﬁ*gmm €00
s¥wo (R): 8358) Era) B RE Q0B 98 $ndnd® AIDS 366 DNA m Srdnd

Which of the following 1s true?
& 1808 TS B HEgBH0?
Options:
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) %8050 (R)Bodkr H&gHn $08050 (S) & (R) ¥8308 258
1 ®
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) So8ci0 (R)Bodr 3855500, 570 (S) 8 (R) 285308 D8 s
o %
(S) 1s true. but (R) 1s false
(8) 855w, 550 (R) eddgiw
- S
(S) 1s false. but (R) 1s true

(S) Eé@ﬁg:m* a0 (R) ée’.-:gs’s.::;
4 v

Question Number : 68 Question Id : 4928631508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0



Sperm is produced in the testes and 1s being transported through the following organs :
a) Urethra

b) Epididymus

¢) Vasdeferens

d)  Vagina of the female

e) Ejacuatory duct

f)  Semuniferons tubules

g) Rete restis

Do 06" G ol DHEST & Fod SDD vIdhTo TT Pirdothd
a)  |BeES®

b) JID&BHS

c) HETos

d Q2£IB>D

e) JHodoFdw

) HiFfe S8 T98w

g 6& Bl How

The correct passage of sperm
HEgero S 56D ESoBw

Options:

fob—og—oc—ose—a—d
1. %

bsfog—c—e—a—d
2%

o g—ofoc—-obose—a—d

fog—-b—oc—ose—a—d
4 o



Question Number : 69 Question Id : 4928631509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cervical cancer is caused by

Aon ol Swpagd 59596 G2 o Sworbd
Options:
Herpes Simplex Virus
| % “TO)® NORY) S8
Human Papilloma Virus
Ty Fadhr 360
2

Trichomonas Vaginalis
G83Irarn 2570
z K L’:—
Treponema Pallidum

FI5r FOE5

Ted

Question Number : 70 Question Id : 4928631510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following is not caused by pleiotropic alleles?

& 1808 2 T8 'E_‘_:ﬁ:'o_:‘m@“i} ddooffy JBLYFL SOl Dtﬁgéﬂﬁj?

Options:
Phenyl ketonuria

236 8&5°8rg0asr

Sickle cell Anaemia



Muscular dystrophy
e G &5&)-’5 é@j;
Cystic Fibrosis
225 PSS

4 ®
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Question Number : 71 Question Id : 4928631511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following
List-1 List-1I
(a) Rb Factor (1) Incompatibility between Rb negative mother and
growing positive foetus
(b) CDE Nomenclature (11) D Antigen
(c) Weiner Hypothesis (111) Fisher and Race System

(d) Erythroblastosis foetalis (iv) Existence of 8 Alleles

Bod T8 2EB8S0sk

rda -1 e -11
(a) REzssgsw (i) RPBASS 80K 0s° 2R R 2285 309" §04
@é%@
(b) CDE &5%8m0 (i) D B8asésn
(€) &6 HoseS (111) DBE Sodcin TS HBENS
(d) B TS DETOS (iv) 8 chnumdsoysresodo

The correct answer is
50 Lo BIT2W

Options:

@ ® © @
o GG @ 6

@ ® (@© @
L (i) Gv) () (@)
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Question Number : 72 Question Id : 4928631512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-1 List-1I
(a) XX-XOType (1) Drosophila
(b) XX-XYType (11) Grasshopper
(¢) ZO-ZZType (111) Birds
(d) ZW-ZZType (1v) Fumea

& 808 T 2SHHHE

erde -1 de - 11
(a) XX -XO0Oggs0 (1) @oHe
(b) XX-XY 8850 (1) (s 556
(c) ZO-ZZ 5850 (1i1) HEoeo
(d) ZW-ZZ 5850 (iv) Grgaoodos

The correct answer 1s

08 sond 2o

Options:

(@ @ («© @
() Gv) (@) (@)

1.
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Question Number : 73 Question Id : 4928631513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many Barr bodies are present in the cells of Klinfelter Male (KM). Normal Male (M)
and Normal Female (F) in humans

35 D6 FoEH YOS (KM) 56 Y’ (M) S0 Fsn & & (F)
AQ) 2§ BiFFenodron
Options:
2(KM), 1(M), 2(F)
1.

_ . LBM), 0(M). 1(F)

O(KM), 0(M). 1(F)

3 ®

3(KM). 1(M), 2(F)

i "

Question Number : 74 Question Id : 4928631514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



“Development of normal eyes and skin colour in the Proteus anguinus. a cave dwelling
salamander. upon exposure to daylight and its subsequent passage to the next generation™
supports which of the following evolutary theory

RSP0’ AIN0T FoBodl wond (PTabS @odpdod dr8isro8s” Fogsr ol
GONSOYE Ferdm J@eo DIV, BEYHEE0 HHJoBEIS. & vimer Shard
0708 050388 TT wodBdbbsd. 2d @ DO RTOE ) OHLTK

Options:
Darwinism

FOrcz30
1 % >
Neo-Laemarckism
o Gaoe @éf&&aﬁu
> o
Mutation theory
e S0385 DT osIn
3 ® o
Industrial melanism
FO T8 TS

Question Number : 75 Question Id : 4928631515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Biochemical recapitulations. is best exemplified by embryonic development of birds. Identify
the correct statement

LICFARAE YPITHYE dFoddn EEddn £& (bird) SomdHns Sowododd & Bod
TAS S8Gd Trgmgdo Mofowodn

Options:



1,
excretion of ammonia for first four days of development as in fishes. urea for next
nine days like amphibians and finally uric acid as in reptiles

TGS Trenih Swren Dl @}Em&;ﬁoﬁrm, SHTd S Feren Gchdcudd
JSorBaird DH0S® BT N8 rdEErd) AdYHeh

> B

excretion of ammonia for first three days as in fishes. urea for seven days as in
amphibians and uric acid as i reptiles

BoGE Doy Saren THLIB @ayé:;oﬁym, SETE o Seren GHcHETOSE
o8Oy sty JOK)TANS clrdsThrd) Jdgowod

o %

excretion of ammonia for nine days as in fishes. urea for nine days as i amphibians
and uric acid as in reptiles

So08E s Seren WH0IB e Acird, 86ard FInd Sered GHdHEorvsd
oSorBaliriy ehinty S80S criFTErd) JSPIToW

—i

4 %

excretion of ammonia for two days as in fishes. urea for ten days as in amphibians and
finally uric acid as in reptiles

F0EE Sody Feren BHOIT BFrRAIKrD, SHTd K8 Fwen GIHITesd
SBordairds sudnt S63)TFwsT chrisErd) ASgT0n

Question Number : 76 Question Id : 4928631516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following schematic diagram best explains showing phenotypic distribution
explains the “directional selection™ due to natural selection :

& §ob TES* Q Héodwo ©E)BIGe (0" HTASNE S GYFgErd JJTeado JorRoido

Options:
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Question Number : 77 Question Id : 4928631517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Philadelphia chromosome is associated with following disease

E}@E@;}oﬁ? (oS 5 TR ﬁd&é}n{sé: 580 Dot

Options:



Immune hypersensitivity

- Rdoorge w8 SoyEdco
Tuberculosis
m&md&&g@‘“é&e&

Question Number : 78 Question Id : 4928631518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first gene therapy was given to

M%ﬁwﬂﬁéﬁﬁ*ﬁm 3551:15 W& 308 Qlc2&0s

Options:
Human mmmuno deficiency

33'*':“5;335 E%"D:Jgﬁi B0

Emphysema

Qo@?ﬁl—.ﬁr
Adenosine deaminase deficiency
AETS Bond& o

2
Phenyl Ketonurea

Question Number : 79 Question Id : 4928631519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The following fish is a good source for omega 3 fatty acids

& 808 & [HS' oo 3 Y] wdren 8IT wPoHI
Options:
Shrimp
S B
Sardine and Salmon
Q0 Ho0ABn Ty
o o =
Cat fish
29 B

Silver carp

'?Jt*.:ﬂgﬁ 515&
4 ®

Question Number : 80 Question Id : 4928631520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Queen bee performs “Waggle dance’ in a bee hive.

Reason (R) : “Waggle dance’ informs other bees about source of nector.
g (S): ooed &4 333%&’}0{53 THS Jyergd) (HEBoTHS

8o (R): TS SYBgn 356 GIEV BwYTIE 2By Badiof dSrTdiodothd

Which of the following is true?
& 1808 TUS® A8 Dgn?
Options:
Both (S) and (R) are true and (R) is the correct explanation of (S)

_ (8) 508050 (R)Bodkor &g S:0050 (S) & (R) ¥8G8 D56w
1.



o R

=
(S) 1s false. but (R) 1s true
58 (S) wddgin, 50 (R) ddgsdo

Both (S) and (R) are true. but (R) is not the correct explanation of (S)
(S) S00cin (R)Bodr ddgi0, 570 (S)§ (R) 205508 D58 50l

(S) 1s true. but (R) 1s false

(S) HSe8eb0, 570 (R) exdeébobon
5 5

Physics

Section Id : 49286339
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questionsto be attempted: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1

Sub-Section Id: 49286339

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 4928631521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Left alone. the half-life of Protons and Neutrons are almost

D8 Q& HHOILYE, PFroo idin drgrd of €08 sodn TETYT
Options:
Infinite and finite respectively

= [EHDM ewHodBn S0doin HBES8L
1. %



Both mnfinite

_ Dol ewdodln

Both finite
Sotr HON&BS50
=X
Finite and infinite respectively

i JEID, DOJoFHBw B0 wIodo

Question Number : 82 Question Id : 4928631522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Measured resistances of 5€2 and 10€2, both having same absolute error, are connected in
parallel. If the relative error of the equivalent resistance is not to exceed 0.05. the absolute
error in the measurement of each of the resistance in €2 is

2.8 D85 &ho HOAS Bod J8Esed 5Q 508w 10Q e FO0, o8 dSrodgdom
08, DS oy ASFH0 GLoE), Fof A 0.05 508 DENErE G308, oo
AEEsTe Fode™d H8H &850, Q et

Options:

0.05

Question Number : 83 Question Id : 4928631523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Two stones are thrown vertically up simultaneously from the ground. As they travel upwards,
their mutual separation AS. as a function of time ‘7’ can be graphically shown to be

Dot T ALYV Y™ & Kook B wEFD DHEF. © D8 PorBRHVE T

E.’)Jfﬁg:’iﬂ @35565 {1?6;’35@“5%5533 AS. o0 ‘f & 5570 E.’.eé:r‘{&‘} & Jdom ﬁrﬁo:ﬁéﬁ:ﬁ%

Options:
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Correct: 1 Wrong: 0

Aboat sails on a river against the current from point A to point B and back to point A again.
The boat maintains same velocity in relation to water in both cases. The velocity of water
current 1s 3 kimvh. If the ratio of the time the boat takes to sail from point A to point B to
point A and the time it would take to cover the same distance on a still lake 1s 1.5. the
velocity of the boat 1s

w8 DES JSHS°, PTFI8 SgET8omr, A Do) Sood B Doty H8B Sobodn IS8,
A DoY) D80 PHoSredod. & Bod ﬁ{.ﬁc‘ﬁﬂ";ﬂﬁﬁ SES S Byirg 8 Iy $OA ob.
Q8 s 3K 3 kimv/h. 85 Dodoh Adood DokoPH BE 888 DothY A8 HSrBod
500 S0l HES @08 Grord) JoEE NP S6S° Hairdod soo g 1.5 vond
DS IJtfo

Options:

-4\/5_. km/h
#®

1.

.6«/5 km/h

.5'\/‘; km/h

.3\/5 km/h

4 o

Question Number : 85 Question Id : 4928631525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A projectile positioned at a point 4 is fired from ground at an angle “6 ° with respect to
ground and after 1 minute it touches the point B on the ground located at a distance 6 km
from the point 4. The initial velocity of the projectile 1s

w8 D585 grdy HE) W88 Do) 4 S0l Frderdd ‘07 Feos’ LHTH. b
1 QB0 doved, Do) 4 Sood 6 km drdos’® Frdo iR 08 Qo B ool
@ED850 BwE), &9 Jrhwn

Options:



33 m/s
1 ®

100 mv's

> ®

105 m/s
3 &

316 mv/s
4 o

Question Number : 86 Question Id : 4928631526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ball is thrown with an initial velocity of 100 m/s, at an angle of 30° above the horizontal.
The distance from the throwing point to the point where the ball attains 1ts original level 1s
approximately

8§82 ddrodd Tp& 30°Fwo Wdr o8 208 O 100 m/s K08 QDBI DT, DDBD
DoY) Hood 208 8BA 835 STOEFowA Fod DoY) ST Ko doedo Ddrdm

Options:

860 m
1.4

510 m
o %

1720 m

3 ®

30m
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Two boys. both swim at 2.5 kmv/h across a river with the water velocity of 2 kmv/h. First boy
starting from point A on one side of the river crosses the river along a straight line path
reaching point B on the other side of the river. AB being perpendicular to the stream. The
other boy starts from the same point A and swims right angles to the stream and reaches
point C on the other side of the river and walks back to the point B with a velocity «. If both
boys reach point B at the same time, the value of u 1s

2.5 km/h 3608 agds erends, 38 3dn 2kmhm do 36 Sord. 30068 wanth S68
28 YD) Dotvyh) Adod Iwdwan, Hd¢dye Srdorm 68 BoEFIYNS B DocdHse
Wordy. ABOp (Daritl8 vozmom ¢ob. Bodd wrend o0 Do) ASod HaFs
OO Hthdr 68 Todd JPHod) CDodPHsH B0 ) &0 B DokoHds udkes
5OSEE T BHBT. RGPHL 28 Freod’ Dok B BOILows, u Jend

Options:

2 km/h
1 kmv/h

4 kmvh

z ®

3km/h
4 &
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A marble of mass m, slides down an arc of circular track from rest as shown in the figure.
Assume the track is frictionless. If the block having the track has a mass m, and can also
slide frictionlessly on the table. the velocity of the particle when it exits the track at B 1s

My \B5go 3o Fotran HEE Y SE Srdoibod JFHogd ool HLed” Srad Jdom
2008, $0rgo DTS S8 0w, Srdhsnd) by (855078 m,) Sre 0B S8r08d
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A truck of mass 2000 kg 1s moving down the hill inclined at an angle 30° relative to the
horizontal. At some point when the truck speed is 72 kmph the driver applies the brakes.
The constant force (parallel to the road) that must act if the truck has to stop after travelling
100 m 1s

(Assume g = 10 m/s?)

2000 kg GSgoraiie frdy) TiidS0, §82708 30°8%008° o Fod 2500 §obs S b.
Firddo s 72 kmph ¢Sy w¥ Do I§ T S&wads (driver) @)
SFd. @6 ok 100 m PoSrHod TS0 SAFITIF) TFI0D HIVODRIOBS
28200 (6°58 dSroddorr) Dewd
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A small object of mass m, moving with a velocity v, 1s incident upon the block having a
frictionless curved surface of radius R. The block 1s initially at rest. The object and block
move together on the frictionless horizontal surface while the object rolls up to maximum
height of /1 on the curved surface of the block of mass mi;. The value of /1 1s

G550°8 m, fo 28 D) S V, 308 D8 SESrdo (SEe J"g@"géﬁ)& R) 894
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A 3 kg steel ball hits a concrete wall with a speed of 10 m/s at an angle of 60° with the
surface and bounces off with the same speed and angle. The average force exerted by the
ball on the wall, if the ball is in contact with the wall for 0.2 s, 1s

3kg 555078 Ko @&, 208 oS FEH 10m/s 3508 $ord8 60° Foos® &5 ©od
208 L85y 2od Food® IH88A0d. wod FEs® 0.2 sseo K}Jé‘geﬁ GoD 208 ﬁ*cé*;':g
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The times taken by a solid sphere. a solid cylinder. a thin-walled hollow sphere and a
thin-walled hollow cylinder. all having the same mass. to roll down an inclined plane when
released at the top are denoted as ¢ . ¢ . f, and 7, _respectively. The following is true with
regard to the roll down times

8 (G508 o Dol Fhw, ol drdhn, Heodd Fd Ho e o Sodoin Heodd i
fo e drddne Twdoo 2 o od Eod S8k FEEIE Stusturods S8dm

N e Ho8o5w rirc‘”? artoTd. &5‘@@*3@ 5}&% srerel Do0fodd é&@éﬁ M oS00

Options:

'r};rc‘ = 'rhs = "rsc = rss

1.9

rﬁc‘ - ‘rf?s = Iss = r.'n:
> %



1

" 55 }ISC}IF}S Zrh.:‘
=

L% 'rss :rsc }fﬁm = Iﬁc‘

Question Number : 93 Question Id : 4928631533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A camera clicks 100 photographs with a shutter speed of % sec of an oscillating pendulum

of period 1 sec at random intervals of time. Which of the following statements about these
photographs is most likely true?

1 seC FoTrdgs srodn 80AS B0dd S'us) JVE ddirodrod” b & 5 sec

OAS o8 Boor 100 Dgrod 8508, & JYorodh Jouo0dod §od I ISTe Ao
5308 whE ©I57Finok?

Options:
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More images will show the bob vertically below the point of suspension than at the
ends
QS Vgrosd® FESw Soddo DdGe o8 Jedboin Doy 1Bodm JeoPHm

Gl WrYETow

More images will show the bob at the end positions
JES @ Fo Boddo NI Dodye IF ity SrYysrow
Pl

z ®
There will be roughly equal number of images of the bob positioned vertically below
the point of suspension as those depicting the bob at the ends
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No images will likely have the bob vertically below

Fgo Peorddcsn Doy Bod JwoHme dra JEreo Godkd
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The amount of work that has to be done to place a 1000 kg satellite into a circular orbit
of radius 290 km above the earth’s surface is

(use M = 6 » 10**kg. R, = 6380km. G = 6.67 » 107! Nm?*/kg?)

Sr e50Swo od 290 km drdos® &) SjEsd §85e° 1000 kg &5 {55
SoST8 Bohdobd B

(M =6 * 10**kg. R, = 6380km. G = 6.67 * 10711 Nm?*/kg?)
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The Young’s modulus of copper wire of 2 m length and 5 mm diameter measured by applying
a weight of 100 N is 5 Nm. If the applied weight is increased to 200 N. then the Young’s
modulus of copper wire 1s

100 N er8o e0d800380, 2 m >8P Sodcdn 5 mm argdldn fo oof 81 Sws), dhoh
Hgsn 5 NM?m §Oadh. o)) 200 N o0& 2008 oi 84 Bwg), ool Mg
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A wide vessel with a small hole at the bottom 1s filled with water and kerosene. Neglecting
the viscosity, the velocity of water flow. if the thickness of water layer is 30 cm and the
thickness of kerosene layer is 20 cm. is

@i o’ OF) Jolgdnd) el ITvom GF) TG JH Dok e Eood
QoTS. (BTre o PR, I8 IS Soddn 30 cm B85 §FRI FY HrodSn
20 cm &y Sogorhor airddihdly o8 Ik

Options:
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A vessel of volume 40 / contains ideal gas at the temperature 0 °C. After a portion of the
gas has been let out. the pressure in the vessel decreased by Ap = 0.78 atm. while the
temperature remaining constant. Assuming the density of the gas under normal conditions as
p=1.3 g/l. the mass of the released gas is

40 [ 08 S8dmsedn o @ 0°C 3¢ w&d) ot 808 B, IS @80T €rothdr

TAENYS Tod ) po0BE HoDIH FMES'D Tk DEsin Sfyde Ap=0.78 atm.
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Atwhat temperature will a Fahrenheit thermometer record twice as much temperature as a
Centigrade thermometer?
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A gas system is taken through the thermodynamic cycle (abeda) as shown in the figure.
The amount of heat change experienced by the gas during the process 1s

28 Tadn SgSPd GRNes SESw (abeda), HLoSt SrbE Do ST BobwdIB. &
BEIHS® TanIEo A Gk Srdy
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40 J of heat is rejected
&y 880 40T
i T =
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2 o Ta=o 407
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&3 98gSo 100
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100 J of heat 1s absorbed

" tn §ano 1007
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If the temperature of 50 m/ of gas at 27 °C is raised to 57 °C at constant pressure, the final
volume of the gas 1s

27 °C $80&) 50 ml srodon eFsSo 57 °C § 0008, Troin 18 HoSd8S 00

Options:

23.7 mi
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Consider a point object moving in the X7 plane according to x =a sin @r and y =D cos o,
where a. b and o are positive constants. The trajectory equation of the point object is

Doy LoSrdn Ko P XY Swoss®, x = a sin @f So8c0 ¥y = b Cos ot HoEdere

glorfoeaorr Ecoendood. a8 8 a, b 5o8din Wwd §S RorosTen. & Dok 58P BWED ¢
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An air gap in the form of a prism as shown in the figure is present inside a glass slab of
refractive index 1.8. A ray enters from left side of the slab through face A. Then

1.8 5182558 o BOAS o8 mer HHe® HLEo evdod mdS’ Jobd P HEFSw0

Do’ Urhd Jdom Déﬁjd:ﬁa&g&. QB 8, Dok 28 Blwo mar &) dvo Afow
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Options:
The ray passes through the slab undeviated

. JPoidTrdom 8o e BAYY Mol HIr8y0d
i
The ray exits from the slab bending upwards

P S0, B30y wod w8 JHof wIrdsnIHéod
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The ray exits from the slab bending downwards

880 B30 Doo& Bolss Jof wrgEDYB0s

The ray exits from the slab after total internal reflection

8§80 DoPrd DT IR0 Tob &) Do aTrdEnYHsood
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Match the following diagrams with the correct statement
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Positive magnification. image on the
opposite side of the object
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A laser beam i1s used to illuminate a double slit. The distance between the slits 1s
0.93 mm A viewing screen is kept at a distance of 1.2 m from the double slit. If the
second order bright fringe (m = 2) 1s 5.1 cm from the center line, the distance between
adjacent bright fringes is

Bub 5708 Yoz, Dok VOFRS) HgHRd PO BobodTAE GIBrhoT .
D08 Hgy Srdo 0.93 mm. HO8e Sod 12m Srdods’, R8N0 WrdEs 8D
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g ®

3.2 cm
4 ®

Question Number : 105 Question Id : 4928631545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Consider a long solid non-metallic cylinder of radius R carryving volume charge density
p = k? (r < R). where r is the radial distance from the axis and k is a positive constant of
appropriate dimension. Then the electric field at a distance » < R from the axis of the
cylinder 1s

Rargargioiie e &S Ho8 drdo, od udd Fogd p=kr (r<R)$0A ¢ i omo.
Q&6 7 efdn $0b GEoPS drdsn So0okn k H0G0S Doden BINS S RUOS )
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The potential of an electrostatic field E = 2ax) T+ a(rg i )j 1S

E= 2nx_1‘f+a[x2—j*2)j o3 S A8gS FEo Doog), FBITHNS Jend
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The ratio of the length of a stretched circular rod to its original length is x. If i is the
Poisson’s ratio. the ratio of the electrical resistance of the stretched bar to that of the
unstretched bar 1s

FHORS $yTs s SodgB oo §& P& Hoosw m Swre (original) FEHe G 35"% £
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In the circuit shown. if the potentials at points 1, 2 and 3 are 10 V. 6 Vand 5 V respectively
and the resistances are R, = 10 Q. R, =20 Q and R; = 30 Q. The cwrrent flowing through
the resistance R, 1s

SrHd Jochod™d 1, 2 $08cin 3 o I8 FBICHS Jeoden J&dm 10 V. 6 V

S0805m 5V Sobaso dFFes R, =10 Q. R, =20 Q%6050 R, =30 Q. 36%550 R, oz
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Two electrons with initial speed 8 » 10° m/s are released into a space with magnetic field

B . The first electron is released along the X-axis and it moves in a straight line. The second
electron 1s shot from the origin along the Y-axis and it moves in a circle that intersects the

+Z-axis at z=+18 cm. The magnitude and direction of B is

(.mﬂ =9x107'kg)

E ©ofod) 08 BN EOAS wodoFhing I8 &8 IHdw 8 X 10° m/s £0AS Bodkd
JoFeod WITREND. IS8 oo X-uf ST EITRLT ©h 6By Srfod
W0, Bodd Dm@;ﬁ Sore Doty od Y-u§ 8FS° DL 9b 5)EEres” SO0l
+Z-059) 7 =+18 cm 3§ obodod. B S2oF, H0SreSn 2060 b

(m, =9x107'kg)

Options:

5x10*T. —X direction
§x10*T, X admr

10 x 104 T. —Z direction
10 10%T. —Z &%

10 x 10*T. —X direction
10 % 10T, —X 84
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Consider a long solenoid carrying a current of 10 A. To get a magnetic field strength (B) of
& mT. the number of turns of the wire needed to wound covering a length of 30 cm 1s

10 ADdogs pardrdn o PEIS FBrand 18 HoKdodod. 8 mT echd o B¢
SR (B) Frodws, 30 cm &P sSirodamd 55500 81 ey dopg
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A 2000 turns/m solenoid with a core of relative permeability S00 carries a current of 5 A,
Then the magnetic field and the magnetization are given respectively as;
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An air core solenoid of length 0.5 m and cross sectional area 25+10~* m? has 500 turns.
When the electrical circuit of the winding is opened, the current falls to zero from 10A
m 10~ seconds. The back emf induced in the circuit in “V” is

(The permeability of free space is given as 4w~ 10~" Tm/A)
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In the given LCR current. with AC source of frequency 2 kHz. the capacitance C, of
the capacitor added in parallel to 1 uF capacitor to make the circuit resonant with the
Source, 1s

&°
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A 8.8 mW laser is focused to a spot of 1 mm? area. If a 3 nC static charge is placed in the
focused spot. the maximum electric force experienced by it is

[Use co =88 1012 C2/Nm?]

8.8 mW S225 1 mm? Jreghing) Dok 5 SodEsdawod. 3 nC Mo J8 «dzq)
5708 30|08)8 Dot I woNB @b Fold HER Jgd weo Jewd
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A neutron and a photon have kinetic energy 100 keV and 50 eV, respectively. The ratio of
wavelength of neutron and photon is

(Assume mass of neutron = 1.68 » 1027kg. ¢ =3 = 108 m/s).

Srgers 0ok Perce (&=dE Shdm 100 keV Sodasn 50 eV. Segers So8osn
Firoo 850MBYg G Jos?
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Consider a beam of electrons directed towards a crystal. if the crystal spacing is *5°, the
de-Broglie wavelength for which the electron beam will be reflected back along the same
path. » being an integer. 1s
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The ratio of the electric potential energy that a proton in a nucleus experiences to that of an
electron is approximately of the order of
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The logic gate used to realize all other basic gates 1s

o

Lore TEOS) Folirds SS3BFNHE S¢), Tredan
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Which of the following logic gate circuit has the following truth table
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The carrier wave is given by C(7) = 8sin (5nt) volts and the modulating signal is a square
wave as shown in the figure. The modulation index 1s
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Question Number : 121 Question Id : 4928631561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The wave number of the third line of the Balmer series of hydrogen spectrum is

[R =Rydberg constant]

TERS ;’;g:;mﬁ:a o8 @B’ Sorddd Tp S&oi Somg (R =08w8 %ﬁ}ﬁ“uél—ﬁ:ﬁ)
Options:

021R
4

0.138 R

> R

0.18R

3 ®

022R

4 ®

Question Number : 122 Question Id : 4928631562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The wavelength of the wave of a hydrogen atom moving with a velocity of 4000 msis 2.
If the velocity of the hydrogen atom is changed to 2000 ms™. the new wavelength A, is
equal to

4000 ms' 3608 $0TF TERS HBSrw0D SCorBYgEn Al TERS HSrmP Sto
2000 ms™ r Sordoy BohB TF SBonBYgHn A, BIE SHrHB0?

Options:

0.2

L
:h'-"'



42,
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Question Number : 123 Question Id : 4928631563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The correct order for first ionization enthalpy of Na. Mg. Al. Si follows the order

Na. Mg. Al Si© 30068 ©chEdn Jogrdyw rifoth Edosn

Options:

. Na<Mg>Al<Si
1.9

Na>Mg>Al>Si

> R

Na<Mg<Al<Si

o R

Na>Mg>Al<Si

4 %

Question Number : 124 Question 1d : 4928631564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following statements are not correct?

a)
b)

c)

In a period electronegativity increases with increase in atomic number

The higher the electronegativity of the central atom in a polyatomic molecule. the
lesser would be the magnitude of the bond angle

Electronegativity of the atom would increase with mcrease in s-character of its hybrid
orbitals

The element with most negative electron gain enthalpy is fluorine

VOGS I DK 5°?

20008S® H¥hremn Dopg DD ELE -8y 88 v &0
REVDESr008 WOPS® Bo|FE DEDrenY) Bo BT EE WHEIB 20¢E
DBSTe0 SiHdiod

D080880 whitrdes® s-fiwo DA Fob H8Srd 8220 B0 gt B8 W8 B0H

odd8 Hm JOFS [Ty Dogrdy o Soresdn FOS

The correct answer 1s

ol e

Options:

ONN 2aTe

a.b

1 %

a.b.d

o W

b.d

=

4 ®
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Number : 125 Question |d : 4928631565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0



Statement (A) :
Statement (B) :

N8 (A):
J58e (B):

Isoelectronic molecules and 1ons have the same bond order

With increase in bond order, bond length decreases and bond enthalpy
INCreases

B JoTS wmoHor $HBn wIrSed’ &8 wodED S0
poFEDodn DINTLL 20880 SMHS08 S0 2od JorTd)y
FeleSTpb T SToTA

Which one of the following options correctly represent the above statements?

§08 2T S I D STpOR HOFHH?

%)

Options:

Statement (A) is correct, statement (B) is wrong

D580 (A) 28IH, S8 (B) S6G086 52

1 %

Statements (A). (B) are comrect

Dddmen (A), (B) w0 S0G05D

> of

Statement (A) 1s not correct and (B) 1s correct

D580 (A) $8GS6 T, 580 (B) $8B58

o %

(A). (B) are not correct statements

Dden (A). (B) en $8B0sd 529

4 %

Question Number : 126 Question Id : 4928631566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the most stable and correct structure of C OCI_;_,

C’OClzé:;« Sh el %5@#} SB30 MepEopty)] Hoto8od

Options:



10—C=dl

I .e
A B e
1. ® T e ow
Cl=0-Cl;
LI I LI :
<L
a5 % LI
0=C—CI3
T ew I LN -
e
3-&# LI
$0—C—Cl
T oeow | L
)5
4 ®

Question Number : 127 Question Id : 4928631567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of relative rates of diffusion of N, and H, gases is approximately

N, So0cs0 H, rainge 0 o588 o g Sodrdom
Options:
1:3.75
. 4
1:14.0
z .
ol 1:28.75
1:42.0



Question Number : 128 Question Id : 4928631568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The root mean square velocity of an ideal gas at a constant pressure varies with density (d) as

DRGS0 58 Jre Sore Dt Sfhresn Fods (d) & BSet)!

Options:
d*
1. ®
d
o %

Question Number : 129 Question 1d : 4928631569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Calculate the approximate mole fraction of the solute in 1 molar aqueous solution

adh

1 3rerd somdnoed” (TI8) Irderifdn odrdm

Options:

i i

1.80

o> R

0.18

3 ®

- 0.018
4

Question Number : 130 Question Id : 4928631570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Approximately how many litres 0f 0.25 M Zn(NO,), solution can be prepared from 75.6 g
of Zn(NO,),?

(Molar mass of Zn(NO,), is 189.38g mol™)

75.6 g & Zn(NO,), 508 Soirdor ) 868 0.25 M Zn(NO,), (@5e5°d) SosrtoBcboried?
(Zn(NO,), 3rer6 (&igoes = 189.38g mol™)

Options:

1 16L

091L

> R

Question Number : 131 Question Id : 4928631571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find out the value of log K [K = equilibriun constant] for the following reaction at 298 K
[Given A G° at 298 K =—13.6 kJ mol™]

IZNHELE} +CO0,,) = NH,CONH,(,,+H, Oy

298 K 55 808 3658 log K (K= 550738 oro8sin) dends B8 0hsn
[298 K 58 A, G°=-13.6 kJ mol™]

2NHj5) +CO,(zn) = NH,CONHy, o) HH,0
Options:

1.69

1 %

. o 2.38

4.76

o R



Question Number : 132 Question Id : 4928631572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements are correct for the reaction
SOECIE{gj = SO, tCly,) . at SO0 K?

a) K >K
il c
b) Rate of the forward reaction increases with increasing pressure
c) Rate of the forward reaction increases on removing Cl1, gas
d) Rate of the forward reaction increases with decreasing pressure

500 K %8,

80,Cly;) = SOy 5 +Cly) SE5E0 0B DSEPOS® DD HOFPS?
) K >K

b) 2550 2o Fob PG FBgBLn hHE08

¢) ClLodndd Folicds Fob HGFme S6g0tn Ddhdrod
d  DESE0 SHoS Tod HEFTL $Egiin HH&0

Options:

a.b.d

1 %

, ¢ .C.d

b.c.d

3 ®

a.d

4 ®

Question Number : 133 Question Id : 4928631573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A weak monobasic acid after treatment with 15 ml of 0.1 M BOH (base) has a pH of 5.
Volume of same base required to completely neutralize the acid is 30 mL. Calculate pK,
of acid.

15mle 0.1 M BOH (5852)& &8 w0rs 858 eiras 8008 $thad pH dend 5.
wir) Jrom ém%éaoﬂ’nﬁ& HONN 98 Y Hodd0Sreesn 30 ml. w2y pK, &
S§) odoaw

Options:

5.5

1 %

Question Number : 134 Question Id : 4928631574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

If the boiling points of H,0 and D,O are (H, Oy and (DEO)bp and the vapour pressures of
H,0 and D,O are (H,O },k_p and (DEO)W. which of the following is correct?

H,0 %0050 D,0 o erlass Faren (Hy0),, $8050 (D,0),, H,0 S8000 D,0
ayadaes (H)0) 58050 (D,0),, 28 §od T8S° 38 S8GS8?

Options:
< (HEO)WZ(DEO]EP- (HEO)‘T:{DEO]W,
(H,0), <(D,0), . (H,0)_>(D,0)
o o
(Hzo)bp :}(Dzolbp . (Hzo}w {::{DZO]W

T ®



(H,0),, <(D,0), . (H,0) <(D,0)

4 % ) i

Question Number : 135 Question Id : 4928631575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Anhydrous calciuum sulphate is called

o s790ho JHTYED QB0 E?

Options:

Gypsum

-
@O

1% *

Plaster of Paris

Td @Y TR

Dead burnt plaster

, 38 00§ 246
s Co L

Portland cement

ﬁ‘ﬁ@‘uﬁ YR lol ]

Question Number : 136 Question Id : 4928631576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

B(OH)3 forms a layered structure in the solid state. Which statement best describes the
bonding of oxygen atoms in this structure?

20538 B(OH), rdo 307 Q) 28100308, & A0°)200¢5°Q a8 H85rand© ©oers

¢ J

020800 1Bod HEwOS’ A& SO DPX0H?

Options:



1%
Each oxygen atom is bonded to two hydrogen atoms through hvdrogen bonds
X8 sfizus H0drmny Tod wdae dddrmdoin @R oo GO

pofodad Sod

o o
Each oxygen atom 1s bonded to one hydrogen atom through covalent bond and another
hydrogen atom through hydrogen bond

D8 s HESreed ol TE RN JBSrmIS FTr8oll 20TQ) wE TR
<)

8570 & TE RS 20R) J6)EH08

z ®

50% of the oxygen atoms are attached to two hydrogen atoms through covalent bonds
and the remaining 50% to two hydrogen atoms through hydrogen bonds

50% sfue HSSrenHen Tod TIF e HSrnIHed Fordodl wore oo
BEF)Q odron DBan iar 50% s§Hue SSdrmodedr Tod T FRQ

HEIreYOF TIFRS 2oT0 ToT BE) I Godrow

4 ®
Each oxygen atom 1s attached to two hydrogen atoms through covalent bonds
D8 e8zd J8Ir0d Todo wridae Jddrmuyed Fordodl woe IO

wofoviné Godlron

Question Number : 137 Question Id : 4928631577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following compound has a smooth structure with no dangling bonds?

o T&S* o W ol8 A wogren (dangling bonds) B Fogd Aoy oA
e odnoh?
Options:

Diamond
1 %



Graphite

> B

. » Coke

C
4

60

Question Number : 138 Question Id : 4928631578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Which of the following statements is not correct?

§08 JSEeS® HBBKE IS 8?
Options:
Ozone 1s not a green house gas

o 08 iy Ty T

£
et

1.

Ozone can oxidise NO to NO,
&' NO & NO, ™ s§58dmo Ddgod

Ozone i1s a bent molecule
L8N wf E'80% wend

Ozone filters the ultraviolet light in upper stratosphere

r

5,8 ﬁighg L%Lﬂa’:ﬁﬁ?aoef sa&oe g I8l $E5 Do d
4 ®

Question Number : 139 Question 1d : 4928631579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The mixture of isomeric products obtained on nitration of phenol are separated by the
following method

DTSR JTAS 2™ AHES 2FHY ETIO LEFSE) Bod HEEST IHTJH
Options:
Crystallisation

E&D)ﬁééﬁeau

Steam distillation
eerdy weddo
5 o L)

Sublimation

ﬁé&é;‘f}o
= ®

Differential extraction

Bod)E 3,8
4 ®

Question Number : 140 Question Id : 4928631580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Kolbe’s electrolytic reaction of sodium salt solution of hexanoic acid gives the following
major product

rE)Sfons el Fdado vde @) §8) ddogdiEhm Wiy 28OT aFy B
e&Hdo Bod FES
Options:
n-dodecane

n-&@se
1 %



n-decane

5 N-Gse

n-hexane

N-2r8y@

n-pentane

n-wode

Question Number : 141 Question Id : 4928631581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following reactions give an aromatic compound?

8od WEgos® wFErts HIFTR) SNID AD?

OH .
@
a) _HP .
- Zn/Cu
b) CH;0H/A
Br
Eh-.
& KOH/C,H.OH
conc.H,S0,
" 3(CH;), €O o >
Options:

a.d
1.9



b.d

Question Number : 142 Question Id : 4928631582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following

List-I List-II
(a) Metallic (1) CaF,
(b) Covalent solid (11) SiC
(c) Non-polar molecule (i) H,O
(d) Ionic (iv) L
(e) Polar molecule (v) Ag
(vi) Ar

Bod T8 2EDEw0N0

erdar-1 arfe-11
(a) &' (1) CaF,
(b) FTBod ddado (1) SiC
() o w0 (1) H,O
(d) eoriE (iv) L
(€) &% emod v) As
(vi) Ar

The correct answer 1s
00 ®oX& 270

Options:



(a) (b) (c) (d) (e)
) () v (1) (i)

(a) (b) (c) (d) (e)
(vi) vy @) (1) Q)

o> B

(a) (b) (c) (d) (e)

&) (i) Gv) @) (i)
z ®

(a) (b) (c) (d) (e)
i (v) av)  (vi)  (ii1) (1)

Question Number : 143 Question 1d : 4928631583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The ratio of any colligative property for KCI solution to that of sugar solution of same
molality is

a8 30erdd Ko KCl mhndn Hocsn 58,8 mharods B §armd Sompe A8

Options:

-2

b

Question Number : 144 Question 1d : 4928631584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If the osmatic pressure of human blood is 7.53 atm at 37°C. calculate the concentration of
non electrolyte solutes in the blood?

37°C 58 SrSH S5 B PSS 26850 7.53 atm wond %0 vIgs JFag
Troere mESS 88 owidw
Options:

0.296 mol L1
1.

0.592 mol L}
2 B

1.12 mol L1

3 R

I mol L1

Question Number : 145 Question Id : 4928631585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In the electrochemical conversion (Kolbe's electrolysis) of R-COONa to R-R. 1A current

was passed for 965 seconds. Calculate the amount of R-R formed in this process
(Faraday constant = 96.500 C mol1)

R-COONa %08 R-R & 28558 62009 57018 (88 g8 DFamosn)s”, 1A §Botwsd

965 D¥od i J0LOT K. & PBEHS” 6YES R-R H08rerdy 8§ 0808
(F68 Horogo =96.500 C mol™)

Options:

10 m mol
1 8

5 mmol
= of

100 m mol

3 ®



50 m mol

Question Number : 146 Question Id : 4928631586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For a reaction the activation energy is zero. What 1s the value of rate constant at 300 K.
[Givenk,, . =1.6x10%s; R=28.314 Jmol K]

280K

2§ SO eBed 9§ Do), 300 K 5¢ $65din porossn Jod?

—_— el

[kgox =1.6 x 10°s7: R=28.314 T mol K 05356 ]

Options:

20 x 1.6 x 10%s7!

10 x 1.6 x 10°s71

o R

1.6 % 10°%¢
3.

Question Number : 147 Question 1d : 4928631587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following represents chemisorption?
(x = The mass of the adsorbate, m = Mass of the adsorbent)

Bod TUS® 2 Sraid @fFherd) Srddnon?

(x = whHFadgo G507, m= ©HFTR80 (EB50°3)

X
a) —
m
I(K)
X
h} i
I(K)
» P = Constant
¢) m
time
' " Constant high T
m
d)
time
Options:
a.b.d
.

a. C



b.d
3. v

b.c.d

4 ®

Question Number : 148 Question Id : 4928631588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Gibbs free energy change for the formation of Al,O, and MgO at 25°C are approximately
—1040 and —1080 kJ mol™! respectively.

Which of the following statement(s) is (are) correct for the above data?

a)  Thereduction of MgO by Al is thermodynamically feasible at 25°C

b)  Thereduction of Al,O, by Mg is thermodynamically feasible at 25°C

¢)  Alumimnium can be extracted from AL, O, by mixing it with Mg at 25°C. but it is slow
d) Magnesium may be extracted from MgO by mixing it with Al at 25°C

25°C ¢ ALO, 508050 MgO o 2oytnso Ad) VeamF8es® Sovdy S60dm —1040 S5odosao
—1080 kI moll. & $gr07°08 Sowofod Bod JSEpoS® G (AD) J6I& (D)?
a)  25°C 5§ &{KeE TEddom MgO s Al Eobssmo mdosst)

b 25°C 3¢ epses =

E—

godomr ALO, S Mg & §odgdemo molhy)
c)  25°C 3¢ Al 0,8 Mgd 88, sworgdobod ALO,&obs dofireao e IS b
T oo By

d 25°C 55 MgO & Ald 0%, ofyachod Mg 08 doidrmo Schsu)

Options:

Question Number : 149 Question Id : 4928631589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Statement (A) : Aqueous PC]3 1s an electrical conductor due to the formation of HCI
Statement (B) : All five bonds of P*[“l5 are equivalent

D58 (A): 2o PCL e Ddogd orgdn Johsod HC]Dd;]C‘fOI‘iJ 1)

D58 (B): PCL &° od) wogren 885w

Which of the following is true?
& §od TES' IB JBFIH?
Options:

Statements (A). (B) are correct

DHdeen (A). (B) oo $68308D
1%

Only statement (A) 1s correct

D580 (A) SF@H HOESE
=L 4

Only statement (B) is correct

D580 (B) S 865058

Statements (A). (B) are not correct

, DSl (A). (B) & 38830852 579

Question Number : 150 Question Id : 4928631590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



When dilute ferrous (Fe?") salt solution is added to an aqueous solution containing

nitrate (NO;] ion followed by the addition of conc. H,SO,4 forms a brown colored ring.

What 1s the chemical composition of the complex that is responsible for this brown
colored ring

IBE (NO;) ooiraie eoEsardd D05 EL (Fe*) vdn [Tl §008 sthad

g H,S0, 8008, o Bhd Soih o Socho J8bdod. & Bid Sob Seckho

Dyhoadd SIS HodgY SFDS HoPotaSsn DE?

Options:

Fe(NO,)

2

'[Fe(HEOJS (No)|”
i 4

[Fe(H,0), (NO,) |

3 ®

[Fe(H,0), (NO)(NO,) |

Question Number : 151 Question Id : 4928631591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the set of elements which do not exhibit multiple oxidation states

odvd 858 RS0 (@PEGOUN DTrUSTY JRuIt) H§ownaw

Options:

Sc. Ti

1%

Mn. Cr
o> R



;x Cr

/n. Sc
4 o

Question Number : 152 Question Id : 4928631592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of bridging carbonyls respectively in Mn,(CO), , and Co,(CO), are

Mn,(CO),, 08050 Co,(CO) 08" 768 576 3dw dopgen SLSMT

Options:

0,0

1 %

2 " L1
= . 1.0

"
oo 0,2

Question Number : 153 Question Id : 4928631593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The natural rubber is soluble in the following

Qe Jad (508 TRST Bdidiod
Options:

Water

le®
1. %

Dilute acid

DO s (TS0
i h



Dilute alkali

QDL 78 TS0

Benzene

Question Number : 154 Question Id : 4928631594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to classification of amino acids. lysine belongs to the following

(=]

DT wire 0880 H5do, Bas §od T8 Doddod

Options:

Acidic amino acid

29530 JIT @800

Basic amino acid

570 Wala a0
2. ¥ "

Neutral amino acid

S DS B0

Non-essential amino acid

BINEE JDT @0

Question Number : 155 Question Id : 4928631595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Furacine is an

TgooR ©odd

Options:



Antibiotic

girodiaddrids

Analgesic

% JorOEnE

Antihistamine

SroBrg DS

Antiseptic

ISrotiwnE
4. ¢ =

Question Number : 156 Question Id : 4928631596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following
808 B 2EBSTod

List-1 List-1I
erfae - | arfae - 11
OH ~ NaH .
a 1 1
(b) Q/\Bl’ KOH/C,H;OH } (ii) E,
Br
© OL _HO | (iii) E,
OH
® i 9
(d) QA H (iv) Sy2
Br

The cortect answer 1s
D8 2ons 2o

Options:

(a) (b) (c) (d)

(i)  (Gv) (1) (D)
1. %

(a) (b) (c) (d)

W ) @ @

2



@ ©® © @
Lo @ i) O G
@ ©® © @

um) @ @@ )

4. %

Question Number : 157 Question Id : 4928631597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct sequence with respect to the mechanism of hydration of an alkene in
the presence of a dilute acid

a)  Nucleophilic attack of water on carbocation
b)  Protonation of alkene by .HEOQ to form carbocation
¢) Electrophilic attack of H® on alkene

d) Deprotonation of protonated alcohol
e) Electrophilic attack of water on carbocation

DO By HHos® 8§ @Y, TBAS ST°g ITE0S D B0 B ESBNS HYoSes
) SHTOErED A8 Bwy, $rg8BrHds b

b) 'Hgo@ & 5 P00 Dod TEHTLUrS dByEL0

) wb5p H® g, dogHoE b

d PFE[TE s Hod PErs SohoR

¢) soiTorSp H,0 Gog, dognos oa

Options:

- ¢ ed



c.a.d

Question Number : 158 Question Id : 4928631598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Z in the following reaction sequence?

1) Propionaldehyde
2)H,0% ;

HBr

ethylene , ¢ Me/dryether

> Y

Bod Worg edoEdnos® Z J00e3?

- s FE& S5 . Dirsh&radirs

~a0s5 _HBL Mg/aré 665y, D@b PRI
2)H.0P

Options:

. OH

/W >
> %
OH
3 %
OH

-
S



Question Number : 159 Question Id : 4928631599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The order of rate of hydrolysis of the following acyl chlorides with NaOH 1s
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The order of basic strength of the following in aqueous solution 1s
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